1101. Cwitdwwbip Ynnnpwlutipp.
w) 3,853 L 2,64, n) 15,899 L 14,9, k) 78832,91 L 78732,91 ,
p) 72,93 173,85,  q)0,382L 045,  q)663,0001 L 663,0002 :
LR TN TRV NER s B SRR LA I TS VpRuiaE) B T EVR
w) 3,853 > 8,64
p) 72,93 < 73,851
n) 15,899 > 14,9
q) 0,382 > 0,45
k) 78832,91 > 78732,91
Q) 663,0010,1 < §63,0002' ) L
1102. Zwidtiiwnbip Ynmnpwutipp.
w) -6,73 L -6,81, q) -11,2 b 11,21, k) -0,38 L 1,001,
P)-0,432L 1,431,  1)-3,756 L -3,706,  q)-5,555 U 4,999;

Ls

w) — 6,73 > —6,81
p) — 0,432 > —1,431
Q) —11,2 > -11,21
1) — 3,756 < —3,706
k) — 0,38 > —1,001
qQ) — 5,555 < 4,999

1103. N'p puwlwu pYtpu Lu guuynd hbwnbjw]  wwuunppujuu

ynunpwljutinh dhol.
w) 5,68 L 6,7, q) 7,24 8,2, k) 2,833 L 4,11,
p) 2,001 3,5, n)1,5u35, q) 7,1 10,2 :

w) 6

p)3

q)8
23

k) 3,4
q)8,9,10

1104. Uuwmnuuhoh thnfuwpbit mbnunptp > Jud < Wwup, npytugh
unuwgywo wuhwyjwuwnpnipyniup éhpwn 1huh.
w)721=72, p)99,2=989, q)553 =564, n)3,285*3,185:
w) 7,21 > 7,2 '
p) 99,2 > 98,9

q) 55,3 < 56,4
1) 3,285 > 3,185



1105. Uuwnnuithoh thnjuwpbit mbiqunptip hudwwyuwnwujuwy pywiyw-
un, npytiugh unwgywsd wuhwjwuwpnipniun thywm huh.

w) 2,5%7 > 2537, q) 10,85 < 10,*5 ,
p) *,568 > 4,568 , 1) 885,62 < 885,6%3 :
w)*=4..9
p)*x=5..9
q)*=9
nx*x=0..9
1106. bpup hwonpnnn np tpym puwfwu pytph dhol L quuygmud
Ynunpwyn.
w) 3,2, q) 75,32, k) 5689,1 ,
p) 8,93, 1) 29,66 , q) 3284,9 :
w) 3,4
p) 8,9
q) 75,76
1) 29,30

k) 56689, 56690
q) 3284,3285

1107. Uniinpwljubipp nuuwynpbip wadiwu Yupgny.
60,325, 11,2, 28,43, 60,32, 11,56, 3291,83, 5,6:

5,6,11,2,11,56,28,43,60,32 60,325,3291,83: '

1108. Unwmnpwljutipp nuuwynptip WJwquwl Jupgny.
10,3, 8,94, -0,5, -3,27, 41,01, 569, -3,2

41,01,10,3,8,94,5,69,—0,5,—3,2, —3,27:

1109. Unnpnhuwwnwht wpwugph Ypw tipynt pdtiphg npu L wytjh wye

wmbinunnpywsd.
w) 6,37, pt 6,375, n) 783,5-n, pt 783,6 n,
p) 0,893, pt 0,8-n, k) -31,72-p, phi 18,6,
q) 293,4-n, pti 294,3n, q) -11,25-p, pt -11,257n:
w) 637
p) 08
q) 293,3
1) 783,6
k) 18,6

Q) — 11,25



